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AC = 12cm : BD = 8cm ; MS = 10cm

1 1
VaBcDs = 5'5-12~8~10cm3
VABCDS =160 cm3
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1
VQansp = § . AQ"RHS -h, mith=3cm

-QnRy - SM,,, mit SM,, = (10 — x)cm

N =

AQ.Rr.S =

Vierstreckensatz mit Zentrum S
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QuR, (10 — x)cm
8&m  10cm
8cm
Qan - ]_OCm . (10 — X)Cm
QnRy = (8 — 0,8x)cm
1 2
Aqr,s = 3" (8 —0,8x)- (10 — x)cm
1 2\ o2
AQ,r,s = 5" (80 — 8x — 8x + 0, 8x )cm

Aq.rs = (0,4x* — 8x + 40)cm?

Varsp = = - (0,4x% — 8x +40) - 3 cm’

1
3
VQ"RnSP = (0, 4x% — 8x + 40) cm?

VQ,R,sP = 61’% 160 cm® = 10,8 cm®
= 0,4x* — 8x + 40 = 10,8
& 0,4x% —8x+29,8 =0
8+ 17,28
2.0,4
& (x=15,20) vV x=4,80
L = {4,80}
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